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2. (1) Show that : UNIT - I
, d H 2 x [ o 2 S. (a) Find the Laplace transform of the folly
@ E L @2, )
dx 2n functions,
(b) Find the solution of the wo:oism €quations in () cos3s
terms of Bessel's function (i) ™ sin t cos 3¢
2 2 e et bt
4y M@Lﬂg 2B o (iif) £ =¢
dx®  x dx x2 to
(b) Use Convolution theorem to evaluate
UNIT-11 -1 !HJ
3. (a) Show that : (+D(s+9)
() 135 @n 1) 2 iy o i .
Pon(®)=(-1) 246.....0n (n CNANSN 6. (a) Solve &a’w .%+m@um !sin ¢ by transfy
(b) Prove that - , method , where ¥(0)=0, y'(0)=1.
w_. X Py(x) Py_y () dx 2n (b) Find the inverse Laplace transform of
5 ond 4n? -1 | () —L
j s3 Amw +1)
4. (a) To show that - (i) — s .
5" +4q
m%;wm _ = t"
£ = M wum: (x)
n=0 UNIT ~ v
(b) Show that : 7. (a) Find the Fourier transform of the functiog
2 o2 xe ™, xsp
;.“m “[H, ()P &RHN::_;._. e dx=2"y1 Jx flx)= 0 reo

(2) (3) P.T.0




